

5

تکلیف بدون اسم صفر

(2) (1)

1 - 5 1 - 5

$$\begin{matrix} 1 \rightarrow 1 \\ 3 \rightarrow 4 \end{matrix} \left\{ (V_4) \right.$$

$$\begin{matrix} 1 \rightarrow 1 \\ 3 \rightarrow 4 \end{matrix} \left\{ (V_4) \right. \quad (V_1)(V_4) = 1 \text{ (2) } \checkmark$$

(2)

$$\beta \rightarrow 1) \quad \sqrt[4]{1+\sqrt{5}} = \sqrt[4]{(1+\sqrt{5})^2} \times \sqrt[4]{(1-\sqrt{5})^2}$$

$$\sqrt[4]{\frac{(1+\sqrt{5})^2}{1-\sqrt{5}}} = \sqrt[4]{\frac{2(1+\sqrt{5})}{1-\sqrt{5}}} = 2^{\frac{1}{4}} \checkmark$$

1)

$$\sqrt{3-\sqrt{5}} = \sqrt{3-2\sqrt{\frac{5}{4}}} = \sqrt{\left(\sqrt{\frac{5}{4}} - \sqrt{\frac{1}{4}}\right)^2}$$

$$\frac{5}{4} \times \frac{1}{4} = \frac{5}{16}$$

$$\sqrt{\frac{5}{4}} - \sqrt{\frac{1}{4}} \Rightarrow \sqrt{3-\sqrt{5}} - \sqrt{3+\sqrt{5}} =$$

$$\sqrt{\frac{5}{4}} - \sqrt{\frac{1}{4}} - \sqrt{\frac{5}{4}} - \sqrt{\frac{1}{4}} = -2\sqrt{\frac{1}{4}} =$$

$$-\sqrt{2} \left(\frac{\sqrt{1+\sqrt{5}}}{\sqrt{10+2}} \right) = \frac{-2 - \sqrt{10}}{\sqrt{10+2}} = -1 \checkmark$$

$$\frac{\sqrt{1+x}}{\sqrt{1-x}} = \frac{\sqrt{1+x} \cdot \sqrt{1-x}}{\sqrt{1-x} \cdot \sqrt{1-x}} = \frac{\sqrt{1-x^2}}{1-x}$$

$$= \frac{\sqrt{1-x^2}}{1-x} + \frac{\sqrt{1-x^2}}{(1+x)(1-x)}$$

$$\Rightarrow \frac{1+\sqrt{1-x^2}}{1-x} = \frac{1+\sqrt{1-x^2}}{1-x} = \frac{(1+\sqrt{1-x^2})(1+\sqrt{1-x^2})}{(1-x)(1+\sqrt{1-x^2})}$$

$$\frac{1+\sqrt{1-x^2}}{1-x} = \frac{1+\sqrt{1-x^2}}{1-x} \times \frac{1+\sqrt{1-x^2}}{1+\sqrt{1-x^2}}$$

$$\boxed{1+\sqrt{1-x^2}} = \frac{1+\sqrt{1-x^2}}{1-x} \times \frac{1+\sqrt{1-x^2}}{1+\sqrt{1-x^2}}$$

$$1-\sqrt{1-x^2} = \frac{1-\sqrt{1-x^2}}{1-\sqrt{1-x^2}} \times \frac{1+\sqrt{1-x^2}}{1+\sqrt{1-x^2}}$$

$$\frac{1-\sqrt{1-x^2}}{(1-\sqrt{1-x^2})(1+\sqrt{1-x^2})} = \frac{1-\sqrt{1-x^2}}{1-(1-x^2)}$$

$$\frac{1-\sqrt{1-x^2}}{(1+\sqrt{1-x^2})(1-\sqrt{1-x^2})} = \frac{1-\sqrt{1-x^2}}{1-(1-x^2)}$$

$$\frac{1-\sqrt{1-x^2}}{1-(1-x^2)} = \frac{1-\sqrt{1-x^2}}{x^2} + \frac{1-\sqrt{1-x^2}}{(1-x^2)(1-\sqrt{1-x^2})}$$

$$\Rightarrow \frac{1-\sqrt{1-x^2}}{1-(1-x^2)} = \frac{1-\sqrt{1-x^2}}{(1+\sqrt{1-x^2})x^2}$$

$$= \frac{1-\sqrt{1-x^2}}{1+\sqrt{1-x^2}} \times \frac{1+\sqrt{1-x^2}}{1-\sqrt{1-x^2}} = \frac{(1-\sqrt{1-x^2})(1+\sqrt{1-x^2})}{1-(1-x^2)}$$

$$\frac{1-\sqrt{1-x^2}}{(1+\sqrt{1-x^2})x^2} = \frac{1-\sqrt{1-x^2}}{(1+\sqrt{1-x^2})x^2} \times \frac{1+\sqrt{1-x^2}}{1+\sqrt{1-x^2}}$$

$$(1+\sqrt{1-x^2})^{\frac{1}{2}} = \frac{1+\sqrt{1-x^2}}{1-x^2} \times \frac{1-\sqrt{1-x^2}}{1+\sqrt{1-x^2}} = \frac{1-\sqrt{1-x^2}}{1-x^2}$$

$$\boxed{1-\sqrt{1-x^2}} = \frac{1-\sqrt{1-x^2}}{1-x^2} \times \frac{1+\sqrt{1-x^2}}{1+\sqrt{1-x^2}}$$

$$(1+\sqrt{1-x^2})^{\frac{1}{2}} = \frac{1+\sqrt{1-x^2}}{1-x^2} \times \frac{1-\sqrt{1-x^2}}{1+\sqrt{1-x^2}} = \frac{1-\sqrt{1-x^2}}{1-x^2}$$

$$\frac{1-\sqrt{1-x^2}}{1-x^2} = \frac{1-\sqrt{1-x^2}}{1-x^2} \times \frac{1+\sqrt{1-x^2}}{1+\sqrt{1-x^2}} = \frac{1-\sqrt{1-x^2}}{(1-x^2)(1+\sqrt{1-x^2})}$$



$$\frac{r}{n} = \frac{r}{n} \Rightarrow \frac{r}{n} = \frac{r}{n} \quad \frac{r}{n} = \frac{r}{n}$$

$$C_T = \frac{r^n (1 - (-1)^{n+1})}{(1 - (-1)^{n+1})}$$

(1)

(2)

$$r^2 + 14r + 11r + 5$$

$$\sqrt{r} = \sqrt{r} = \sqrt{r}$$

$$\sqrt{r} = \sqrt{r} = \sqrt{r}$$

$$\sqrt{r} = \sqrt{r} = \sqrt{r}$$

(-)

(b)

h

$$= \frac{1}{\sqrt{b+1} + \sqrt{b-1}}$$

$$\frac{1}{\sqrt{b+1} + \sqrt{b-1}} = \frac{\sqrt{b+1} - \sqrt{b-1}}{(\sqrt{b+1} + \sqrt{b-1})(\sqrt{b+1} - \sqrt{b-1})}$$

$$= \frac{\sqrt{b+1} - \sqrt{b-1}}{b+1 - (b-1)} = \frac{\sqrt{b+1} - \sqrt{b-1}}{2}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}} \cdot \frac{\sqrt{b+1}}{\sqrt{b+1}} = \frac{\sqrt{b+1}}{b+1}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$(a+b)(a-b) = a^2 - b^2$$

$$(a+b)(a-b) = a^2 - b^2$$

$$(a+b)(a-b) = a^2 - b^2$$

$$(a+b)(a-b) = a^2 - b^2$$

$$a+b$$

$$\sqrt{a+b} + \sqrt{a-b}$$

$$\sqrt{a+b} + \sqrt{a-b}$$

$$b = \frac{A+k}{r} \Rightarrow b = \frac{A+k}{r}$$

$$\sqrt{A+k} + \sqrt{A-k} - r = 0$$

$$\sqrt{A+k} - \sqrt{A-k} = r$$

1

$$\frac{1}{\sqrt{A-k}} = \frac{1}{\sqrt{A+k}} + r$$

$$4 - r^2 = \frac{1}{1 - r^2}$$

$$\frac{1}{1 - r^2} = 4 - r^2$$

$$1 = (4 - r^2)(1 - r^2)$$

$$1 = 4 - 4r^2 - r^2 + r^4$$

$$r^4 - 5r^2 + 3 = 0$$

$$r^2 = \frac{5 \pm \sqrt{5}}{2}$$

2

$$\sqrt{a} = r \sqrt{a} + \frac{1}{r}$$

$$\left(\frac{1}{r} \right)^2 = \frac{1}{r^2}$$

$$\frac{1}{r^2} = \frac{1}{r^2} + \frac{1}{r^2}$$

$$\boxed{4 - r^2} = \frac{1}{1 - r^2} + \frac{1}{1 - r^2}$$

$$(1 - r^2) = 1 - r^2 = (1 - r^2)$$

3

6

$$\frac{1}{r^2} = \frac{1}{r^2} + \frac{1}{r^2}$$

۱- دو عبارت داده شد، فرمول ساده کنید:

$$(\sqrt{n+a} + \sqrt{n-a})(\sqrt{n+a} - \sqrt{n-a}) = (n+a) - (n-a) = a+a$$

$$(\sqrt{n+a} + \sqrt{n-a}) \times r = a+a \rightarrow \sqrt{n+a} + \sqrt{n-a} - r = \frac{a+a}{r} - r = \boxed{\frac{a}{r}}$$